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1 (Sem-1) STA
2024

STATISTICS

Paper : STA0100104
( Descriptive Statistics and Probability-I)
Full Marks : 45
Time : 2 hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x5=5

O PTRY Oed Al ¢

(@) Which of the following does not
represent the empirical relationship
between mean, median and mode ?

©oTO S(ERO (FINCOIE WY, TG F ILTHY
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(i) Mean-Mode = 3 (Mean - Median)
e - T = 3 (A - TG




(i) Median = % (2 Mean + Mode) (iii) Ordinal scale only
@951 TN P AMAF
AT = 1 (2 T (iv) Interval scale onl
X T ) (T JRA AP ’
(iii) Mode = 3 Medi
ian -2
@ =3 § Mean () What is it called when the source of
T - 2 g data is collected and compiled by
?
() Mean 1 | others
5 (3 Median + Mode) %m @i?% m%m?mmmqfi@mw
1 ] i data
TG = = (3 s + 4 (i) Primary da
2 ) | U Y
(b) :g:;ilzliz tgle scale/scales of F (i) Secondary data
me i .
' Observationg. which allow ranking of SRR .
(iii) Tertiary data
I/ PRI A o
m‘ ﬁ ﬁm m ?@ﬂ 9 O
() Nominal sc. ¥ o1 2wt : (iv) None of the above
m .
Inte rl‘? ® Si‘;?ie, Ordinal scale anq 89T OIS T
AT AR, Ty (d) Which of the following is the arithmetic
IR T RUGERIC mean of the first n even natural
A | numbers ?
(ii) Ig;figlzlc asitéale, Interval scale and ‘ o SRS PRl 29 Bt 3 AT
TR AR NG 2 ’
mﬂﬂim
AP, IR Ao oy .
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(i) n+1
(d) Distinguish between frequency curve

... n(n+l
(iti) Q and frequency polygon.

2

) nn+1) mmwwmwmm@m;
Write the formula for the corﬁbined
variance of two sets of observations.
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(e) Three fair coins are tossed together | “

What is the probabili )
. heads and ong taila'.lr’jlllty of getting 2

| () Show that variance is not affected by

2.
Answer any five from the following ) change of origin but affected by change

questions : o )
_— x5=10 ; of scale.
TR it oot e fi ¢ (TR (X 2T TR ~ARREAT Al OIS A
(@) Ne'lme four methods of collectin | Reg o1 AR A ole 2|
primary data. &
I O AT bIRG eI A o | (g) The median of the following frequency
(b) Distinguish between Questionnaire and distribution is 25. Find the frequency
Schedule. corresponding to class interval 10-20.
P S SPI 1N AL sl | 7S TRl LISt 3% N 25, et
(c) The variance of the first n natural 10-20% ReRice Al R 27 Refa 1
numl;rs is 10. Find n. CL(@R) : 010 1020 2030 3040 4050
2% nbl efPReT AT &7 10
4| |7 e Frequency : 2 ? 10 17 3
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(h) Let n dice be thrown. Find the
mathematical expectation of the sum
of the points on them.

Gt bt geld Fewst 71 29 | ool webr

BTSSRI TRAF @i e o
fRefr = o

fi) 2 1I‘::ox contains 6 tickets. Two of the
ckets carry a prize of Rs. 5 each, th
other four tickets carry a prize of Ié f
€.
each. If one of the tickets is drawn

randomly, what i
of the prize ? S the expected value

9 T Rs. 5. I AR 51
©WWRC. 1. ﬂﬁqﬁﬁw.ﬂl 5

Tl T, (TS Boig
Tq? T SIS i Rt

() @) E(X)=12 and (urs) var(X)=9
th H
en find (CeT3 Bfney) E(2X +3) and

(B1%) var(2x +3).
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Answer any four from the following
questions : - 5%4=20
Ol TR [ by s fa

(a) Write a detailed note on Ratio Scale of
measurement of statistical data.

ARRIE AR SIS Aol 8o ¢
Rge G i

(p) Write a brief note on the general
rules for construction of frequency

distribution.
Frcaiget 3% [effas A TS TR

WemaﬁmeI

(c) Show that standard deviation is always

greater than mean deviation about

mearn.
ryedl (3 T RETR T S EIRI G

Rpyfoets M TIeT 2|

(d) The arithmetic mean of the following
distribution is 1‘5. Find the values of

f2 and f3.
©e 9 ITAGR AN AP 1°5. fp NF fo3 W
ofa 1
X .0 1 2 3 4 5 Total (W)
Frequency : 45 f2 fi 25 10 5 250
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(e)

(9)

Write a note on the point of concern
that ;should be kept in mind while
framing a questionnaire or schedule.

EPEIT A TP AT FRITS T
SRR €9 o (Bret ey

The duration of life (in h

] . ours) of
electpc bulb is assumed to flllowaz
continuous distribution with p.d.f.

RN 2 ot Ryl 5 S (1510) of
I R I I AL (p.d.f) T

f(x)=xiz; 1000 < x <1500
Find (Rdy 391) .

() The value of ¢ (c¥ W)
i) P(X>1200)

Suppose a die is thrown Fi
€ . Find th
probability of getting either an eveg

number or a number eater
bot. gr than 4 or

(h) The probability that a high school

1
student being male is 3 and that being

female is -g— The probability that a male

student completes the course

7
successfully is 10 and that a female

4
student does it is 5 A student selected

at random is found to have completed
the course successfully. What is the
probability that the student is female ?

amﬁm«ﬁmﬁm%@am
a@rﬁmq’a% % I @R AEiRel 29

%.ﬁmmwwm@w

ikl Te % W% T GIa1 cﬂiwﬁ@t

%Iﬂﬂﬁ@ﬁ‘fﬂ%mﬁﬁﬂw{’ﬁ
Wi (7l e (T (0 TSI AJE Folles

R SRR ECTIE - TR A FodRe gl @R ekl

WL I BIRSLE TIeq ey ey Sons |
oIk STSifer Mefy 2w ' | et

1 (Sem-1) STA/G 8 . : 1 (Sem-1) STA/G 9 Contd.



4. Answer any one from the following (c) For nevents A, A,..., Ap prove that—

questions : - 10 31 B Ay, Agyerer Ard IR AT T @—
o TR RicIT @biv Bes i ¢ | ) )

. A=Y P(A)-(n-1
(a) Write a note on presentation of (i) P(QA.) ; (A) ( )

tl”'?tquency distribution. Explain how
istograms can be d i )
histog rawn with data (u) P U A Z P(4)

i=l i=1

() discrete variable, and

(i) continuous variable.

(d) Leta random variable X has the p.d.f.

| - ] Bt AR 5O XA LT X

ARITO! IBT BoiglotAR ez «fb (Bt forai
() R o, O . f(x)=ox(x-2); 05 x<2.
(i) Rz 5o Find (Refa ) |
©2 (o1 BBHA SR ATt Y 7 | (i) Arithmetic mean
AT Y
() Compute the measure of skewness and i
the measure of kurtosis for the following (i) Median
distribution : g
O IGACO A RITOR TN 1 357 Iroiq (iii) Mode -
T Ao 8 Ry IEE
CL ¢ 37 812 1317 1892 2397 %3 3.3 (iv) Harmonic mean
@R R G
Frequency : 2 8 10 12 9 6 3
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